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mazxarray(|0 0 O
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return d,,..
end if
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. else
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end if
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else
l < la
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: end for
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Algorithm 4 Start(a) DO OO00000OO

1:

I e N e T = T e T e T e T e T

21:

22:
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24:
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26:
27:
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dmaz = 2r, dmaz = 2/ R? —r2

e=0.99 0 U

lalb0O0O0000

result| 0000000 (DO00OOO0O0O0O0O0OC0OOO0OO0OOOOOOOOOOOO)
arrayl[] < Returnarray(dmin) 0000000 (000000 O0ODO)

min <= arrayl.omin 00000

input a0 0 O0O000OO0O0OOOO0
while a < dmaz do
array2 < Returnarray(a)
list=[|000000000000000O0O0O0O0O
for : = 0 to arrayl.length — 1 do
if arraylli] < array2[i] then

listd 000
end if
end for
for i = 0 to list.length — 1 do
if i == 0 then
result O bsearchl(list[i], dmaz, Omaz +min), bserch2(listli], Omaz, Omaz +min) O
0o
//0000000000000000C0C00000ooDODOObOUUDOoDoDOO
oo
else

result O bsearchl(list[i], dmaz, a + min), bserch2(list[i], Omaz, a + min) O O O
end if
a+ = array2.min
end for
end while
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Algorithm 5 bsearchl(a,b,c) 20 0O
. arrayl 0000000 (0OO0DO)

—_

@

input a, b, c 000 0000O0O0O0OODOODOODODODOOO0OO0O0OOOODODODOOO
gogooooooon

array[] 000000

left<b

right < c

mid < (left + right)/2

array <= rearray(mid)

if (dmin — e < arraylal||arrayla] < dmin + e) then
10:  return mid

11: else

12 if arrayla] < arrayla] then

13: bsearch(a,left,mid) 0 0 0O
14:  else

15: bsearch(a, mid,right) 00 00O
16:  end if

17: end if
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Algorithm 6 main(a) 00O O

dmin = 2r,dmax = 2WRZ -2

result[]| 00000

arrayl[] < Returnarray(dmin) 00 000
min <= arrayl.min 00000

arrayl]

start(dmin) 000000 dmin 0 0O
for ¢ to result.length — 1 do

array O reent(result[d]) 00O
end for

_ =
=)

. print array.min

5.8 UUHOOOOOOOODOO

Ooooooooooboooo pPOOO0OO0OOODOOOOOOOOOOOOOOO
Dooobogogooee,270ct 2000009 00000L0O00O0DODbOLDOODODO
oboobboobooobog2rceoboobbooboooboobboobobo
ooof

5.8.1 270°000O0O0O0OOO

0511000000000 270c0O0000000000O00O0OOOO0OOODOODOO
goobboobooggg2voecebbbooggooooobboobbooooooon
gbobobooogon

Z

g s12:. 000000

g s5.11: 0ggn
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05120 1000000000000 DLO0O0DL0O0 pODOOODOODOODOODO
gooobbbbobobobobbbbbbootbdoddoooooooooooooobobn
gobobbooooobooosizbiobodgooboboooonbnbsi2g3dd
0000 A0O00O0O00DOO00OoOO0OoOo0oDoOOoooOoOoDboOoOoDoboOsa20
000obobooooobooooobboobbooobbooobbLo-r-booooboo
b s5130 20000000

g s.13: 0000oo

gboodgboobbodbuoobboobuoobobobbooboobboobboo
gooooobobobbbobobobobobbbbobobooodoooooooooooooo
(0O O000000DDO0OC0OOO00000D0ODODOODOO0O00bS140000000

0 5.14: 000



gbooboogobobobuooooboboooobobobboooobobobooooobnoon
00000000000 (r,y) D000 5. 4000000000D0O0CDOO

d*> =r?+ R? — 2rRcos 60
d =12+ R? — 2rRcos 0] (5.15)

ooooooogosiboooooonoooodobogonooonbD o ROODOODOOODO
obooobogog

22 + % = r?0 (5.16)
(z +d)*+y* = R0 (5.17)
051600000000
v =r? — 2% (5.18)
0517000000
2+ 2dw + d* +y* = R*. (5.19)

051900 5.18000000000000

2?4 2dx + d* +1r? — 2* = R?,

2dx + d* +1° = R?,
2dx = R?> —r? — d?,

p = Boled) (5.20)

0 5.1800
2 =12 g2
y = +Vr? — a2,
y=>0

y=r?—a (5.21)
05210052000000000000000

_ R (2 4d?)
y = \/7“2 - (=)
R2_ (12442 R2— (12442
(ro) = (), e — () ) (522

0000000000 515000000005.1500 5.2200 (z,y)D0D0O0O0ODOO
gbogbobuogbbboooboobobbboobooboboobboobbodabo
OVr2+R2—-2rRcosf 00000000000 S15000000000000000
obol1booboobooboobobbobbobbobooboon
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5.8.2 UUOOLOOUOOOOO

boudgbbodbogbobuoobboobuoobbuoobbouoboboobooo
gboboodgbbooobboogbboobboobobboobbooescbboobood
O10 Retwrnmex 0000000000000 OOOO2v0cO0000O00O00O0DOO0O
googobrobuogbbooboobbooboobboobooobooboon
gbooooo

Algorithm 700000
1: input x 00 0
2: if 00 90°7 then

3:  return Returnmax(x)

4: else

5. if £ < Vr2+ R?2 — 2rRcosf then

6: return /r2 + R2 — 2rRcosf

7. else

8: return 0000000 0OO0OOO0O0OO0O
9: end if

10: end if
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goudgbbbuodboobbuodgbbooobuoobboobuoobbobodoboo
googbboobuodbogbobodboobbooboobboobuoobooag
gbogbobuodoboobuoobboobuoobbodboobbuoobbooboo
gboboggobuogbbdodgbbodgboooobbooooobuooboboobboobo
gbogbogbogbobuoobboobooboboobboobobboouobobod
gogoobbobbobobobobbbbbbotbddddodoooooooooooobn
gbbbuoogobbbuooobbbuoooobbobooobbbboooobon.
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